EARAROBEEIERT — 2 N— IBISH —F

2017848228 (+) 2EKR4H

m7J<5RR CHUARE B2 Y7%R3®K ‘ (X&) 2 ‘ (egEmml  — | & (&) 14000 &
[AE4£] 1% :360,000” ~ 2#%&:72,000 M  33%&:36,000H  437&:26,000MH .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= 4t 3 | AKBE 1:32.2 4-4-2-2 | 40.7| — 1 488 | FEER (KR)
118l 11/ LT* 56.0 - (+10) | EFHAEAER
L:ixrivvH/xex BiegavILFA FE RIE
N RO — .30 1-1- . = #EB= (KiR)
o1/ ]azEO—TT Y R >3 e 1(322)5 1-1-1-1 | 41.3 2 (4_820) oEs
RN—HNK B:oux—1J—t BN
" N N LA :33. ~5-4- . — ZHE&E (KR
 : BIBELEL RS2 3 o 1(3539 5-5-4-3 | 42.3 8 <4+613) %%)EZH
LR YUETy R BAVKE-3I-F4T FEx %Y K
. . # 3 | BAE 1:34.2 10-10-8-6 | 41.5| — 5 408 | HRERZ (BERE)
4 5| LADF v 540 (1 1/2) (o) |WARE
R:ixyUETyk BINTELRTTT— [OLY=0F ¢
e =t LI ARER & :34. —7-5- . — 2IL1E— (KR)
N NEETENr. ) S A R ° N | pwar
LT IHXLTR B IANH Tr—3I v FEx4
. = I\HRiZE :35. ==GH . — 1&g hEl (KGR
«cH > =P % 3 /*53_0 1 (355)2 2-2-3-5 | 43.8 7 (4+151) e
L:¥r/07a4 B:F77ZX3y b= liEszie ]
. _ 4 3 | B 1:35.6 8-6-7-7 |43.3| — 9 410 | HEZE (KR)
70 6 ILX/T—=Jb 56.0 (2 1/2) *+2) (%) PIRI4%S
RiwyUETyER BNTATLY1—F KE EA
S ERERE —-9-10~ — REFE (KR)
glglio] 71V rT vz H 3 I-Ls (17.?.;5) 6-9-10-10 | 44.6 3 (4_842) PERE 09
R LITARZ N BRI HRS A =t
-» N # 3 | EERE 1:37.6 1-11-11-11{ 44.3 | — 10 | 503 |/NEEEAE (kM)
9l7l9|7LAT 56.0 (7€) (4) |FHEBZ
L:ZAM)—bhtE>R B:YaY/ITUHEARZ Savie]
R : 4 3 | A 1:37.7 7-8-9-9 |45.1| — 11| 490 |HHEEZ (EkH)
10 7 FoHYIEH 540 (7€) 0 (B) 74L7)—
Z:xyaNq4y— B:X=—-7 AHRSHE T4 L TI—
S H # 3 | SRBE 1:37.9 3-3-6-8 |46.2| — 4 464 | RINIRE (KiR)
1\7|8| ¥A%>7 56.0 (1 1/2) (1a) | BHR
:aZ /XLy b BiXv T4 Fvr L=22 1l s A ORI RXY
® I —F—@EBIERL
13—74— 1,2,8,11,3,10,7,6,4,5,9
20—F— 1,2,8,11,3,6,4,7,10,5,9
Jol=5r= 1,11,2,3,4,8,6,5,7,10,9
43—F— 1,11,3,4,2,5,6,8,7,10,9
[ N3
BB 1 200H 714K 1-11 180H % E 1-8 240 3EHE 1-3-11 2,970/
8 B 1 1004 3-11 1,260M B & 1-11 300M K31 11-1-3 6,400
1 120 1-3 1,460 | | B B 11-1 420M
3 560M

ABICOVWTRDTEEERROODE. TR LIV,



